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Seolve each word problem:

Two second grade classes are sharing a bus

for the field trip. Mr. James has 24 students in
his class, Miss Joy has 18 students in her class.
How many students rode the bus in all?

Answer:

Jane was organizing her art supplies, She has
/2 crayons and Bl markers. How many more

crayons than markers does she have?

Answer:

Riley collected white and black rocks on the school
playground. When she got home she counted
them. She had o total of 86 recks. Thirty twe were
white. How many were black?

Answer:

Russell'steacher surprised the class by making §

chocolate and vanilia cupcakes for their party,
She made 76 cupcakes, For’;y three of them

were chocolate, How many were vanilla?

Answer:

At the Angelo School 38 girls and 29 boys go to
the After School Club. On Tuesday |2 children

were absent. How many children were there?

- Answer:

6

Steven had 48 crayons, but 7 of them
were broken. He threw away the broken
crayens. Then bought a bex of 25 new
crayons. How many crayons does Steven

have now?

Answer:

There were 53 students on the bus when
it ief't the school. At the first stop, 4
students got of f the bus. How many

students were still on the bus?

Answer:

Nataiie was excited to get ¢ new chap‘rer
book. She read 26 pages on Satarday and

24 pages on Sunday. How many pages did
she read altogether?

Answer:

Mr, Aris-had 99-bocks in his classroom
iib;‘ory. /3 were fiction. How many
were non—Ffiction?

Answer:

Ms. Msore bought pencils for her
class. She gave 26 to her students. She
has 17 teft. How 'm-a-ny pencils did she
buy?

Answers

:Noi‘es: [/(f/n L¥LL. 2 &—h/i% 6(/{,60(8

Score:
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Find the sums and differences:

2+2=__ I5-1=__ lo+8=__ |9+9=_  |7+8=__
4+8=_  f1+a=__  I3+5=__  |6+6=__ |2+3=_
3+3:_~““ﬁ5+%:uﬂm“~2+8=____ 8-3=_ |as7=
t+a=_ 7-6=_ ls-9=_ ls+7= |s-5=_
H=t=_ |7+6=_ f4+d=_ f8-3=  fH-6=_
7+2=  ls-9= lg+q=  ls-5=  lp-g=
8—2=____6+3:____g+5=____IO—%: 7=
/+9=__  I3+l=__  pl6-3=___  J6+9= 3-8=_
7+7=__ |n+e=__ |2-7=__ |B-6=__ B5-3=
142 bi-s= lass=_ |s-1= ls+s=_
Notes:

Score:




Vs

(r . [ 2.NBT5
Numbers and Operations in Base Ten A‘i,"vf;,f;,’f’,gg‘” J
Compute:

@ 45 + 27 = ® N

I 63 7] ho + 23 =
t 3/

® 72 - B4 = 28

| + 69

@ q7 1 g4 - 45 =
A

@ HO + 39 = 0] g3 =39 =

| Notes:

Score:
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2 Money

Name each coin and it s value.

1@ Hciley has 1 dimes, 22 pennies and b

value:

coin.

/ value:

his pocket had a hole in it. He
dropped " nickels on his way to
school. How much money does he
still have?

16 Corey had $H. 5 in his poc|<e‘r. But,

Solve:

® Tober has 5 quarters, 4 dimes and 3
nickels. How much money does he
have?

nickels. How much money does she
have?

Brooke had $1.50. Then her mom
gave her 1 quarters, 5 nickels and 2
pennies. How much money does she
have-now?

James is savinghis money to buy a
book. It costs ﬁB.OO. He has 32.50
in his piagy bank. How much more
money does he need?

Ty nas b nickels. Kylee has 10 dimes.
How much money do They have
qlfoge‘f?\er?

Notes:

Score:




